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(2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
1) EH$m {d{eï> g§Ho$Vm‘Ü¶o ‘VISHWANATHAN’ ho ‘NAAWTHHSANIV’ Ago {b{hbo Amho. Ë¶m g§Ho$Vm‘Ü¶o

‘RAJSHEKHARAN’ H$go {b{hbo OmVo?
1) NAEHARSJHKAR 2) RAHEARJSHKAN

3) NEAAHRSJHKAR 4) AREHRASJKHNA

1) In a certain code, ‘VISHWANATHAN’ is written as ‘NAAWTHHSANIV’. How is

‘RAJSHEKHARAN’ written in that code ?

1) NAEHARSJHKAR 2) RAHEARJSHKAN

3) NEAAHRSJHKAR 4) AREHRASJKHNA

2) 42 ‘wbm§À¶m JQ>m‘Ü¶o ImbyZ 7 ì¶m H«$‘m§H$mda H$‘bMo ñWmZ Amho, Va gyaOMr OmJm dê$Z 9 ì¶m H«$‘m§H$mda Amho.
‘Zrf Ë¶m XmoKm§À¶m ~amo~a‘Ü¶o Amho. Va ‘Zrf nmgyZ H$‘b {H$Vì¶m H«$‘m§H$mda Amho?
1) 7 2) 9 3) 12 4) 13

2) In a group of 42 boys, Kamal is placed 7th from the bottom whereas Suraj is placed ninth from

the top. Manish is placed exactly in between the two. What is Kamal’s position from Manish ?

1) 7 2) 9 3) 12 4) 13

3) {Xbobr ‘m{hVr Aä¶mgyZ g§Ho$V àUmbr emoYm Am{U {Xboë¶m n¶m©¶m§VyZ FAMILY ¶m eãXmMm g§Ho$V {ZdS>m.
'CAT DONKEY FAN EARTH' Mm g§Ho$V "*1@7, !1&9, ~1@1, #0%3" Amho.
'COW DULL FOREST ELBOW' Mm g§Ho$V "*2@0, #1%8, !0^8, ~1&4" Amho.
'CAN DOORS FOUR ELEVEN' Mm g§Ho$V "~1^4, !1%4, *1@1, #0&8" Amho.
'FAMILY CAR EAGER EGG' Mm g§Ho$V "#0@4, *1@5, ~1&9, #1%3" Amho.
n¶m©¶r CÎmao …
1) ~1&9 2) 10*15 3) 14$4 4) ¶mn¡H$s H$moUVohr Zmhr

3) Study the given information and find the allusion system and choose the allusion of the word

Riachkhandh from the given options.

The indication of 'Uadh Oojchaghaedh Riachh Eathdhak' is "*1@7, !1&9, ~1@1, #0%3"

The notation for 'Ujath Unngng Rijthedadh Engijth' is "*2@0, #1%8, !0^8, ~1&4"

The indication of 'Uachh Oojjathad Rijanath engetich' is "~1^4, !1%4, *1@1, #0&8"

The indication of "#0@4, *1@5, ~1&9, #1%3"

Answer options :

1) ~1&9 2) 10*15 3) 14$4 4) None of these

4) {Xcocr ‘m{hVr dmnéZ g§Ho$V àUmcr emoYm Am{U {Xcoë¶m n¶m©¶m§VyZ rain ¶m eãXmgmR>r g§Ho$V {ZdS>m.

n¶m©¶r CÎmao …
1) 8%N 2) 8*N 3) 18#N 4) 16 $ N
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4) Study the code system using information given and select the code for word rain from given

options.

. ‘ROSE MONKEY BASKET JUG’ is written as ‘9# E, 31% Y, 26 $§ T, 10@ G

. 'JOB RIGID BALL MUG’ is written as ‘6@B, 16 $ L, 9# D, 10 % G&G’

.  'MANGO BULB RABBIES JACKERS' is written as ‘6 $ B, 26 #S,20% 0, 25@ S

.  'RABBIT JAMES BUG MACAQUE’ is written as ‘26 # T, 12% E, 24 @ S, 10 G $ G

Answer options :

1) 8% N 2) 8 * N  3) 18#N 4) 168$N

5) Imbrb B§J«Or dU©‘mbm JQ>, B§J«Or dU©‘mboVrb Ajam§À¶m ñWmZm§À¶m g§X^m©V EH$ {d{eï> AmH¥${V~§Y V¶ma H$aVmV.
¶m AmH¥${V~§Ymda AmYm[aV, Imbrbn¡H$s H$moUVm n¶m©¶ àíZ{MÝhmÀ¶m OmJr ¶oB©b?
HDG, NJM, TPS, _? _.

1) ZVY 2) OQNR 3) RPS 4) None of these

5) The following groups of alphabets form a certain pattern with regard to their position in the

English alphabetic series. Based up on the pattern, which of the following alternative should

replace the question mark ?

HDG, NJM, TPS,    ?   .

1) ZVY 2) QNR 3) RPS 4) None of these

6) Imbr {Xboë¶m loUr‘YyZ Jhmi Pmbobr Ajao emoYm.
1) pqqqp 2) prrqp 3) rrrqr 4) rqqpr

6) Find the missing letters from the following given sequence.

p-qt_t_pqq_qrp_

1) pqqqp 2) prrqp 3) rrrqr 4) rqqpr

7) (e) À¶m OmJr H$m¶ ¶oB©b?

1) 54 2) 72 3) 16 4) 60
7) What will come in place of (e) ?

1) 54 (2) 72 3) 16 4) 60

CÎmao : (2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU

1-1 2-4 3-1 4-3 5-1 6-2 7-4


